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2nd Month, 3rd Week, 6th Day Revision Test (3rd Week)

Q.1. Choose the correct options.   (1 x 10 = 10)  
(i) The square of 111 is:  111

(a) 12231 (b) 12321 (c) 12132 (d) 12232

(ii) Which of the following is a perfect square? 
(a) 431 (b) 441 (c) 451 (d) 461

(iii) Which of the following is not a perfect square?


(a) 81 (b) 121 (c) 201 (d) 441

(iv) What is the square of ? 

(a) (b) (c) (d)

(v) The square of 0.23 is:  0.23

(a) 0.5290 (b) 0.00529 (c) 0.5029 (d) 0.0529

(vi) Which of the following is the perfect square? 
(a) 1225 (b) 529 (c) 6241 (d) All of these 

(vii)Square root of 784 is:  784

(a) 26 (b) 28 (c) 32 (d) 34

(viii)What is the square root of  ? 

(a) (b) (c) (d)

(ix) The square root of 0.49 is:  0.49

(a) 0.7 (b) 0.007 (c) 0.70 (d) 0.71

(x) Square root of 1444 by prime factorization method is:

 1444

(a) 32 (b) 34 (c) 36 (d) 38

Q.2. Answer the following questions:          (2x4 = 8)       
(i). Find the amount of Zakat on 15 tola gold if value of 1 tola gold is Rs.

130,000.     

 130,000  1  15

(ii).Ahsan has a crop wheat of worth Rs. 400,000 irrigated by natural

sources. Find the amount of ushr on it.     

   400,000 
(iii). Find the square of the following numbers by using the property of

perfect square.     



(a) 0.33  (b)   

(iv). Find the square root of the given numbers by prime factorization

method.      

(a)   1849                (b)         
Q.3. An online car service charges 20% commission from its drivers on each

ride. If a driver got Rs. 5000 from all rides in a day. Calculate how

much commission did he pay to car service?      (1x4=4)

 20 
 5000 

Q.4. Salman paid ushr of Rs. 6500 on cotton. If the land is irrigated by rain,

then find the worth of cotton.                           (1x3=3)

 6500 
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